

$$x^\mu = g^{\mu\nu} x_\nu \quad x_\nu = g_{\mu\nu} x^\mu$$

$$g_{\mu\nu} = \begin{pmatrix} 1 & & & \\ & -1 & & \\ & & -1 & \\ & & & -1 \end{pmatrix} \quad \eta_{\mu\nu} \rightarrow \text{Flat space}$$

微分算符

$$\partial_\mu = \frac{\partial}{\partial x^\mu} = (\partial_0, \partial_1, \partial_2, \partial_3) = \left(\frac{1}{c} \frac{\partial}{\partial t}, \nabla \right)$$

↑
时间

$$\underline{c=1 \quad \hbar=1}$$

$$\partial^\mu = \left(\frac{\partial}{\partial t}, -\nabla \right)$$

d'Alembertian operator:

$$\square = \partial^\mu \partial_\mu = \frac{\partial^2}{\partial t^2} - \nabla^2$$

$S^2 \rightarrow$ 相对论 λ

$$E^2 - |\vec{p}|^2 = m^2$$

↑

$$\begin{cases} P^\mu = \left(\frac{E}{c}, \vec{p} \right) \\ \cdot P_\mu = (E, -\vec{p}) \end{cases}$$

相对论变换

$$\Lambda^\mu_\nu = \begin{pmatrix} \gamma & -\gamma\beta & & \\ -\gamma\beta & \gamma & & \\ & & 1 & \\ & & & 1 \end{pmatrix}$$

$$\underline{x'^\nu = \Lambda^\nu_\mu x^\mu}$$

$$\begin{aligned} x^a x_a &= g_{ab} \underset{\uparrow}{x^a} \underset{\uparrow}{x^b} = g_{\mu\nu} \Lambda^\mu_a x^a \Lambda^\nu_b x^b \\ &= g_{\mu\nu} x'^\mu x'^\nu \end{aligned}$$

$$x^\mu x_\mu = \dots = x'^\mu x'_\mu = \text{Const.}$$

$$g_{\mu\nu} \Lambda^{\mu}_a \Lambda^{\nu}_b = g_{ab}$$

↑ ↑

$$(\Lambda^{-1})^{\mu}_{\nu} \Lambda^{\rho}_{\nu} = \delta^{\mu}_{\rho} \Rightarrow (\Lambda^{-1})^{\mu}_{\rho} = g^{\mu\beta} g_{\alpha\rho} \Lambda^{\alpha}_{\beta}$$

Lorentz 变换 \rightarrow group. (Lorentz group)

2.2. Klein - Gordon Equation.

For QM.

$$\underline{E^2 - p^2 = m^2} \quad E \rightarrow i\hbar \frac{\partial}{\partial t} \quad p \rightarrow -i\hbar \nabla$$

$$\left(\frac{1}{c^2} \frac{\partial^2}{\partial t^2} - \nabla^2 \right) \phi + \frac{m^2 c^2}{\hbar^2} \phi = 0$$

$$\underline{(\square + m^2) \phi = 0} \quad E = \pm (m^2 c^4 + p^2 c^2)^{\frac{1}{2}}$$

$$E = \frac{p^2}{2m} \Rightarrow \frac{\hbar^2}{2m} \nabla^2 \phi = -i\hbar \frac{\partial \phi}{\partial t}$$

$$\frac{d\rho}{dt} = 0 = \frac{\partial \rho}{\partial t} + \nabla \cdot \vec{j}$$

$$\begin{cases} \vec{j} = -\frac{i\hbar}{2m} (\phi^* \nabla \phi - \phi \nabla \phi^*) \\ \rho = \phi \phi^* \end{cases}$$

For KG equation:

$$\begin{cases} \rho = \frac{i\hbar}{2m} \left(\phi^* \frac{\partial \phi}{\partial t} - \phi \frac{\partial \phi^*}{\partial t} \right) \\ \vec{j} = -\frac{i\hbar}{2m} (\phi^* \nabla \phi - \phi \nabla \phi^*) \end{cases} \rightarrow \begin{cases} \phi = a + bi \\ a = t \\ b = t \quad \rho < 0 \end{cases}$$

$$j^\mu = (\rho, \mathbf{j})$$

$$A \overleftrightarrow{\partial}_\mu B = \frac{1}{2} [A \partial_\mu B - (\partial_\mu A) B]$$

$$j^\mu = \frac{i\hbar}{m} \phi^* \overleftrightarrow{\partial}_\mu \phi$$

$$\partial_\mu j^\mu = 0$$

$$\frac{i\hbar}{2m} (\phi^* \square \phi - \phi \square \phi^*) = 0$$